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This means that the measure of an exterlor angle ofa triangle Is equﬂl to the sum of the
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1. Howdo' you ‘find the sum of the interior angles of a polygon?

Subtroct 2 -Gom the. Number of sides, This gves Jou the number cFimryes
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2. How many sides does a polygon W|th an mtenor angle sum of 2700° have?
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3. What is the measure of@ mtenor angle of a regular pentagon'?
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4. Find the value of x in each.

Sum =640

. :7 .
Find the value of a. 2 Sum= 419 =720
da+5a +3a+5a+Ua+ba= 720
Ma <720*
5. Name the sides from smallest to largest. 6. Name the angles in order from smallest to largest.
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7. Can three segments with lengths 8, 15, and 6 make a triangle? Explain your answer.
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8. Can a triangle be made from the side lengths 3, 3, and 6? Explain. "
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Ab, 3 +3 st be quder thon 6, not equal 6. /ey it
' L

9. Atriangle has'sides 3 cm'and 8 ¢m. What are t}{e'possible side lengths of the third side?  * -
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The midseqment of & +riamje is a ’?jme"" +h~+,pm the mJFmb & 4w of the sides,

Find the value of n.
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